
bpixeihe 'vx'v ly dfzd
iaeyig lcen s`n dylg dpi` bpixeih zpekny (meid cr qtez dfe)e`xd bpixeihe 'vx'v
.miihxe`iz milcen `l ,mihpeew miaygn `l ,zepkz zety `l - eilr aeygl ozipy

aeyigl zepzip opi`y zeira
daeyz xifgzy zxceqn dxeva dze` x`zl ozipy zihnhqiq dhiy oi`y zeira yi

.diral dpekp
bpixeih zpekn ly zebefd lk zveaw - ATM {(P,w)|P (w) = qacc} z` xicbp

.dlind z` xy`n dpekndy jk dline

(xehpw)htyn
.miirahd znvern ynn dlecb miiynnd znver

dgked

-zqay d`xpe efk f divwpet yiy gipp .miiynnd lr miirahdn divwpet oi`y d`xp
'qnk z z` xevip .f (x) = z exear x ∈ N miiw `ly jk z ∈ R epyi ,jkl dxi
dxtq didz z ly zecg`d zxtq .f divwpetd ikxra ielzd iteqpi` ipexyr beviia
dpey didz za dcewpd ixg` dpey`xd dxtqd .f (0) ly zecg`d zxtqn dpeyd
dcewpd ixg` id dxtqd illk ote`a .f (1)a dcewpd ixg` dpey`xd dxtqdne 0,9n

.f (i)a dcewpd ixg` id dxtqnde 0,9n dpey didz za
okzii `l df la` ,f (k) = zy jk k ∈ N yiy gipp .f ly geeha epi` zy eplaiw
eze` ly mipey mibevii mdy okzii `le dcewpd ixg` kd dxtqa mipey ze f (k) ik

(9 `le 0 `l oi` za oky)xtqnd

htyn
.drixk dpi` ATM

dgked

lkl dxey yi day dlaha mixceqn md eli`k ATMl zekiiyd ikxr lr aeygp
dpeknd m` T yi dlaha `zae ,zfexgn lkl dcenre (zfexgn i"r zbveiny)dpekn
drixknyDATM

zipkz zniiw okle drixk ATMy dlilya gipp .zfexgnd z` zxy`n
:d`ad zipkza opeazp .dze`

: S (x)

.dketd daeyz xfgde DATM (x, x) z` uxd .1

zeidl zaiig okle ,ziweg zipkz `ide zniiw S mb gxkda zniiw DATM
m`y oaen

dxey okziz `ly ze`xl ozip la` .dizeaeyz z` zx`zny dlaha dxey S xear
la` ,S = Pky jk k yiy gipp :efk

S (Pk) = 1 ⇔ DATM
(Pk, Pk) = 0 ⇔ Pk (Pk) 6= 1 ⇔ S (Pk) 6= 1

1



dleki dpi` DATM
⇐ ziweg zipkz `idy jkl dxizqa dlaha dpi` S xnelk

.miiwzdl
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